Варианты заданий
(для групп вечерней формы обучения – 
источник тока не рассматривается (исключить)
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E = 100 В


J = 5A


L = 0,1 Гн


R1 = 20 Ом


R2 = 80 Ом


R3 = 50 Ом


R4 = 80 Ом


С = 150 мкФ


UC = ? 
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E1 = 100 В


E2 = 40 В


L = 0,1 Гн


R1 = 20 Ом


R2 = 80 Ом


R3 = 50 Ом


R4 = 80 Ом


R5 = 40 Ом


С = 150 мкФ


UC = ? 
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E = 100 В


L = 0,2 Гн


R1 = 70 Ом


R2 = 120 Ом


R3 = 20 Ом


R4 = 200 Ом


С = 50 мкФ
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E1 = 100 В


E2 = 60 В


L = 0,1 Гн


R1 = 10 Ом


R2 = 100 Ом


R3 = 20 Ом


R4 = 60 Ом


С = 50 мкФ


UC = ? 
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E1 = 100 В


E2 = 50 В


L = 0,2 Гн


R1 = 150 Ом


R2 = 200 Ом


R3 = 100 Ом


R4 = 60 Ом


С = 100 мкФ


UC = ? 





E1 = 100 В


E2 = 40 В


L = 0,3 Гн


R1 = 50 Ом


R2 = 30 Ом


R3 = 40 Ом


R4 = 20 Ом


С = 50 мкФ


UC = ? 
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E1 = 100 В


E2 = 60 В


L = 0,1 Гн


R1 = 10 Ом


R2 = 100 Ом


R3 = 20 Ом


R4 = 60 Ом


С = 50 мкФ


UC = ? 
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E1 = 80 В


E2 = 40 В


L = 0,1 Гн


R1 = 40 Ом


R2 = 50 Ом


R3 = 40 Ом


R4 = 20 Ом


С = 100 мкФ


iR3 = ? 
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E = 100 В


J = 3 A


L = 0,3 Гн


R1 = 50 Ом


R2 = 10 Ом


R3 = 30 Ом


С = 150 мкФ


iL = ? 
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J = 4 A


L = 0,2 Гн


R1 = 30 Ом


R2 = 10 Ом


С = 60 мкФ


iL = ? 
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E = 100 В


J = 3 A


L = 0,3 Гн


R1 = 50 Ом


R2 = 10 Ом


R3 = 30 Ом


С = 150 мкФ


iL = ? 
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R1 = 30 Ом
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С = 60 мкФ
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J = 3 A


L = 0,2 Гн


R1 = 20 Ом


R2 = 30 Ом


С = 70 мкФ


UC = ? 
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J = 2 A


L = 0,1 Гн


R1 = 40 Ом


R2 = 20 Ом


С = 70 мкФ


iL = ? 
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J = 3 A


L = 0,2 Гн


R1 = 30 Ом


R2 = 40 Ом


С = 60 мкФ


UC = ? 








K





J = 1 A


L = 0,2 Гн


R1 = 10 Ом


R2 = 80 Ом


R3 = 100 Ом


С = 50 мкФ


UC = ? 
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L = 0,3 Гн


R1 = 50 Ом


R2 = 60 Ом


R3 = 100 Ом


С = 50 мкФ


iL = ? 
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R1 = 30 Ом
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E = 100 В


L = 0,2 Гн


R1 = 40 Ом


R2 = 20 Ом


С = 100 мкФ


U(0) = 40 В


UC = ? 
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L = 0,3 Гн


R1 = 50 Ом
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С = 150 мкФ


iL = ? 
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R1 = 40 Ом


R2 = 20 Ом
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U(0) = 40 В


UC = ? 
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С = 60 мкФ


UC = ? 
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L = 0,2 Гн


R1 = 50 Ом


R2 = 40 Ом


С = 70 мкФ


iL = ? 
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E = 100 В


L = 0,3 Гн


R1 = 90 Ом


R2 = 50 Ом


R3 = 30 Ом


R3 = 70 Ом


С = 10мкФ


UC = ? 
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L = 0,2 Гн


R1 = 40 Ом


R2 = 30 Ом


R3 = 20 Ом


С = 80 мкФ


UC = ? 
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E = 100 В


L = 0,3 Гн


R1 = 40 Ом


R2 = 20 Ом


R3 = 10 Ом


С = 50 мкФ


iL = ? 
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L = 0,2 Гн


R1 = 40 Ом


R2 = 60 Ом 


R3 = 80 Ом


С = 100 мкФ


UC = ? 
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E = 100 В


L = 0,2 Гн


R1 = 10 Ом


R2 = 80 Ом


R3 = 50 Ом


R4 = 150 Ом


С = 50 мкФ
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L = 0,2 Гн


R1 = 10 Ом


R2 = 80 Ом


R3 = 50 Ом


R4 = 150 Ом


С = 50 мкФ


UC = ? 
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E1 = 100 В


E2 = 50 В


L = 0,2 Гн


R1 = 150 Ом


R2 = 200 Ом


R3 = 100 Ом


R4 = 60 Ом


С = 100 мкФ


UC = ? 
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E = 100 В


J = 3A


L = 0,3 Гн


R1 = 25 Ом


R2 = 100 Ом


R3 = 50 Ом


R4 = 10 Ом


С = 50 мкФ








